pl:=]0 p2:=|0 p3:=|0 pL1=| 0
3
0 0
Fi=|6 M:=[0
0 0
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pCG = PLF P2+ P3 pCG=|0
L1
[-12
Mcg =M+ (pL—- pCG) X F Mcg=| O
| 12
FF1 ::E FF2 ::E FF3 ::E
3 3 3
0 0 0
FF1=(2 FF2 =2 FF3 =2
0 0 0

FM1_x+ FM2_x+ FM3_x=0
FM1_y+ FM2_y+ FM3_y=0
FM1_z+ FM2_z+ FM3_z=0
FM1_z-rl_y—- FM1_yrl_z+FM2_z12_ y— FM2_y-12_z+ FM3_z-13_y - FM3_y13_7z=Mcg_x
FM1_x1l1_z— FM1_zrl_x+FM2_x12_z— FM2_z-12_x+ FM3_x-13_z— FM3_z13_x=Mcg_y

FM1_yrl_x—FM1_xrl_y+ FM2_y12 x— FM2_x-12_y+ FM3_y-r3_x— FM3_x-13_y=Mcg_z

rl :==pl - pCG 12:=p2-pCG 13:=p3-pCG sumsq 12(‘ rl ‘)2+ (‘ 2 ‘)2+ (‘ r3 ‘)2
-1 2 -1

rl=]0 =0 B=|0 sumsq = 12
-1 -1

proportionality to the distance from point to CG in XZ plane

sumsq_xz .= 1r1_x2 + 1r1_z2 + r2_x2 + 1r2_z2 + r3_x2 + r3_z2 sumsq_xz = 12

FMI_x_xz = Meeyrl 2 EMI_x_xz=0 EMI1_z_xz =

sumsq_Xxz sumsq_xz

M FM1 z xz=0



FM2_x_xz 1= Mc&-y12.2 FM2_x_xz = 0 FM2_z xz =2 MEYTZ X pvp o, xe=0
sumsq_Xxz sumsq_xz
FM3_x_xz 1= Mgy 132 FM3_x_xz = 0 FM3_z_xz = MY X pyvis ) vr20
sumsq_Xxz sumsq_xz
proportionality to the distance from point to CG in XY plane
sumsq_xy .= 1r1_x2 + 1r1_y2 + r2_x2 + 1r2_y2 + r3_x2 + r3_y2 sumsq_xy = 6
FMI_x_xy = MC82TLY gy =0 FMI_y xy =82l X py g y=o2
sumsq_xy sumsq_xy
FM2_x_xy = MCE212Y gy oy xy=0 FM2_y xy = M82T2X ooy y=4
sumsq_xy sumsq_xy
FM3_x_xy=_MCE2T3Y gy xy=0 FM3_y xy = MC82B3X  pyis g yy=o2
sumsq_Xxy sumsq_xy
proportionality to the distance from point to CG in YZ plane
sumsq_yz .= 1r1_y2 + 1r1_z2 + r2_y2 + 1r2_z2 + 1r3_y2 + r3_z2 sumsq_yz = 6
FM1_y_yz .=~ Mcg xrl_z FMl_y yz=-2  FMl_z_yz .= Mcg xrl y FMI_z_yz=0
sumsq_yz sumsq_yz
FM2_y_yz .-~ Mecg x12_z FM2_y yz=-2  FM2_z_yz .= Mcg x12 y FM2_7_yz=0
sumsq_yz sumsq_yz
FM3_y_yz .-~ Mcg x13 2 FM3_y yz=4 FM3_z_yz .= Mcg x13 y FM3_z_yz=0
sumsq_yz sumsq_yz
Adding it all up
FM1_x_xz+ FM1_x_xy FM2_x_xz+ FM2_x_xy FM3_x_xz+ FM3_x_xy
FM1 :=| FM1_y_yz+ FMI1_y_xy FM2 :=|FM2_y_yz+ FM2_y_xy FM3 :=| FM3_y_yz+ FM3_y_xy
FM1_z_xz+ FM1_z_yz FM2_z_xz+ FM2_z_yz FM3_z_xz+ FM3_z_yz
0 0 0
FM1=|-4 FM2=(2 FM3 =12
0 0 0

FMI1_zrl_y- FMIl_y-rl_z+FM2_z12_y— FM2_y12_z+ FM3_z13_y—- FM3_y13_z=-6 Meg x =- 12

FM1_xr1l_z—FM1_zrl_x+FM2_x12_z— FM2_z12_ x4+ FM3_x13_z— FM3_z13_x=0 Meg y =0

FM1_yrl_x— FM1_xrl_y+ FM2_y12 x— FM2_x-12_y+ FM3_y13_x— FM3_x13_y=6 Mcg z =12



